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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot Sensor and FgRec Data
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['ETcl’, "optETcl’], 'LAl', ’optEtRate’]

['T", "Topt’], ['RH', 'RHopt'],
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Plot [['setVlI ETcl’, 'setVI fgRec', ’'setVI VN ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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XX6

BriE) | EBIAT (FD) | EBE (EH/HK) | XK ERE

07:45 62 20. 0 i FiEA@07:45 (KAERSS)
08:30 62 20.0 i FnHpe08:30 (RFERES)
09:15 62 20.0 i FiEA@09:15 (K AIERESE)
10:00 62 20.0 i FnHR@10:00 (KRF{EREE)
10:45 62 20.0 i FnHfe10:45 (REERES)
11:35 62 20.0 i FiEA@11:35 (KRAIERSE)
12:25 62 20.0 i FiEA@12:25 (KAERSE)
13:15 62 20.0 i FHRe13:15 (KREEREE)
14:20 62 20.0 i FnHfe14:20 (REERES)
15:40 62 20.0 i FiEA@15:40 (KAERSE)
23t]620.0 (10%) 200. 0 323 KEC: 2357, PH: 6.6

unusual large postFgEt from yesterday (98), set to 60.0 ml.

Eli%PH (7.54) RS
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XX6

AyiE) | EBIATK (FD) | EBE (BEHA/K) | XK EFRE

08:00 171 20.0 i {312@08:00 (KRF{ERLEE)
08:50 171 20.0 i {RR1%@08:50 (K FHIERLEE)
09:40 171 20.0 i BRi%@09:40 (RFA{ERELZE)
10:30 171 20.0 i BRi%@10:30 (KRAERE)
11:20 171 20.0 {5 Ri%e11:20 (KBERKS)
12:10 171 20.0 i BRig012:10 (REEHSE)
13:30 171 20.0 i BRi%@13:30 (KRAIERSE)
15:10 171 20.0 i 1RRi%@15:10 (K BERK=R)
=21t 1368.0 (8)%) 160.0 EPUFHKEC: 2000, PH: 6.4

EORGEBR R CRIRIRBIEI (171.0 vs 56.0))

BRI\ BEREG2. 0 ml.
EIPH (7.53) i
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XX6

AyiE) | EBIATK (FD) | EBE (BEHA/K) | XK ERR

08:00 95 20.0 i R12@08:00 (K FfERLES)
08:45 95 20.0 i 1212008:45 (ARFEREE)
09:30 95 20.0 i ’R1%@09:30 (kBfEREE)
10:15 95 20.0 i BRi18@10:15 (RFERES)
11:25 95 20.0 i Riget11:25 CRAHERRE)
12:30 95 20.0 i BRi&@12:30 (FKPBHEEE)
13:30 95 20. 0 i BRi%@13:30 (KRAIERSE)
14:35 95 20.0 i Rige14:35 (kAfEREE)
23t 760.0 (8¥%%) 160.0 3203 KEC: 1900, PH: 6.5

EORGEBR R CRIRIRBIEI (171.0 vs 56.0))

BRI\ REG2. 0 ml.
EIPH (7.58) i
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AfiE) | EBIAT (FD) | EBE (EHA/K) | XK EFE
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09:15 172 20.0 i B31%@09:15 (K PBIEREE)
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11:05 172 20.0 i FRi%@11:05 (RPAERSS)
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